50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 18ENG25
Second Semester B.Arch. Degree Examu%z tion, Dec.2019/Jan.2020
Building StructM &g_ i
Time: 3 hrs. | . Max. Marks: 100
Note: Answer any FIVE full questions, é}i’b sing one full question ﬁ'ani“‘each module.

1 a (10 Marks)

b. (10 Marks)
2 a (10 Marks)

b. A brass bar having crd@“ﬁ«w’sectlon area of 1000 mm1s subjected to axial forces as shown in
ate. the force ‘P’ necessary for equilibrium of bar. Determine the total
. Take E = 1.05 * 10°:N/ax

(10 Marks)
3 a. Explain the following:
(i) Bending MQ@M Diagram (BMD)
(ii) Shear Force Dlagram (SFD) |
(iii)Sign convention followed to rap tesel
(iv)Point of ¢ontraflexure . (10 Marks)
b. Draw SFD:and BMD for cantli
(10 Marks)

4 Draw BM /and SFD for overhangmg beam shown in Fig.Q4. Clearly indicate point of
contraflexure.

(20 Marks)




18ENG25
Module-3
5 a. What are the assumptions made in bending theory and explain/bending equatlon? (10 Marks)
b. A beam with cross section shown in Fig.Q5(b) is simply sufg@ orted and carries a maximum
bending moment of 16 kN-m. Calculate maximum comgré‘ ive and tensile stress.

(10 Marks)

6 |

the shear stress varlat&%l dfﬁgram across the dept f%

F— fOmm—rt
(20 Marks)

s
Module—&i ,

7 a. Write expression for effective length of colithng for various end conditions. (10 Marks)

b. Explain Euler’s formula for long colurhhs. ‘What are the assumpnons and limitations of

Euler’s theory for Critical load on long c@lumn? (10 Marks)
8 a. Write the expresswns for sectlgﬂ mofulus of: i

(1) Hollaw rectangular sectj ﬁégﬂthh symmetncal],@{ placed opening

(ii) Tm@p‘gular section X

(iii)Rectangular sectlon N\ A " (10 Marks)

ith'Both ends fixed. Take E =2.1 x 10° N/mm’.
: (10 Marks)
o & ° A@%M‘Ldu_l_e_'ﬁ
9 . Explain momcnt curvature equag;mn Determine a simply supported beam subjected to a
central coﬁ“%%ﬁrated load. t (20 Marks)
b OR
10 A simply supported bqam;@f 6m span subjected to a concentrated load of 18 kN at 4m from
left support. Calculate: "
() The position : and value of maximum deflection
(i) Slope at nmiaspan
(1i1) Deﬂectf@gﬁra’t the load point
by Macaulay@s thethod. Take E =200 GPa and I = 15 x 10° mm (20 Marks)
% %k %k %k 3k
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